MIAMI-DADE COUNTY, FLORIDA
PRODUCT CONTROL SECTION
D REGULATORY AND ECONOMIC RESOURCES (RER) 11805 SW 26 Street, Room 208
BOARD AND CODE ADMINISTRATION DIVISION T (786)315-2590 F (786) 3152595

NOTICE OF ACCEPTANCE (N OA) 7 www.mismidade. poy/economy

Peetz Windows and Doors, Inc.
15951 SW 41 Street, Suite 150
Weston, FL 33331 :

Scopg:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County RER—
Product Control Section to be used in Miami-Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product
Control Section (In Miami-Dade County) and/ or the AHJ (in areas other than Miami-Dade County) reserve
the right to have this product or material tested for quality assurance purposes. If this product or material
fails to perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ
may immediately revoke, modify, or suspend the use of such product or material within their jurisdiction.
RER reserves the right to revoke this acceptance, if it is determined by Miami—-Dade County Product
Control Section that this product or material fails to meet the requirements of the applicable building code.
This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Series “Impact” 10 FT, 9%-TInch Wood Outswing Bi-Fold Doors — L.M.IL.

APPROVAL DOCUMENT: Drawing No. 1689, titled “Series Wood Impact Qut—Swing Bi-Fold Doors”,
sheets 01 through 19 of 19, dated 08/03/13 with the latest revision dated 10/21/13, prepared by W. W,
Schaefer Engineering & Consulting, P.A., signed and sealed by Warren W. Schaefer, P. E., bearing the
Miami—Dade County Product Conitrol Section Revision stamp with the Notice of Acceptance number and
Expiration date by the Miami—Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LLABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, Kall, North

Rhine-Westphalia (NRW), Germany, series, and following statement: "Miami-Dade County Product
Control Approved", unless otherwise noted herein. o

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/ or manufacture of the product or process. Misuse of this NOA as an endorsement
of any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure
to comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami—Dade County, Florida, and
followed by the expiration date may be displayed in advertising literature. If any portion of the NOA is
displayed, then it shall be done in its entirety.

INSPECTION: A copy of this entite NOA shail be provided to the user by the manufacturer or its
distributors and shali be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA No. 13-0717.09 and consists of this page | and evidence pages E-1 and E-2, as
well as approval document mentioned above,

The submitted documentation was reviewed by Jaime D. Gascon, P. E. -

,}- p NOA No. 14-0429.05
: \ rlepsa Expiration Date: November 21,2018
E— w{f@:ﬂ@ Approval Date: June 19, 2014

i ' Page 1




Peetz Windows and Doors, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS

1. Manufacturer's die drawings and sections.
(Submitted under previous NOA No. 13-0717.09)

2. Drawing No, 1680, titled “Series Wood Impact Out—Swmg Bi-Fold Doors”, sheets 01
through 19 of 19, dated 08/03/13 with the latest revision dated 10/21/13, prepared by
W. W. Schaefer Engineering & Consulting, P. A., signed and sealed by Warren W.
Schaefer, P. E. ‘ _
(Submitted under previous NOA No. 13-0717.09)

B. TESTS
1. Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per AAMA 130402, per FBC 2411.3.2.1 and
per TAS 202-94
along with marked—up drawings and instailation diagram of an outswmg wood bi—
fold doors L.M.L, prepared by Architectural Testing, Inc., Test Report No.
ATI—B5205.01—450—18, dated 06/20/13, signed and sealed by Vinu J. Abraham, P. E.
(Submitted under previous NOA No. 13-0717.09)

C. CALCULATIONS
1. Anchor verification calculations and structural analysis, complying with FBC, dated
06/06/13, prepared by W. W. Schaefer Engineering & Consulting, P. A., dated
10/21/13, signed and sealed by Warren W. Schaefer, P. E.
(Submitted under previous NOA No. 13-0717.09)
2. Glazing complies with ASTM E1300-04/ 09

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1, Lloyd’s Register EMEA Certification No. 04/ 00049 (E2) issued to ETS Allin, France,
for their "Marine Plywood, constructed of Sapelli (Crown Cut Sapele 1088)
Mahogany (Entandrophragma Cylindrical) bonded with modified Urea—Formaldehyde
WBP”, filed with the London Design Support Services, expiring on 05/26/2014, dated
04/23/2010 and signed by P, F. Moysey. ey
(Submitted under previous NOA No. 13-0717.09) V.o O
Jaime D, Gascon, P. E.
Product Control Section Supervisor
NOA No. 14-0429.05
Expiration Date: November 21, 2018
Approval Date: June 19, 2014




Peetz Windows and Doors, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

MATERIAL CERTIFICATIONS (CONTINUED)

2,

Notice of Acceptance No. 12-1231.08 issued to Eastman Chemical Company (MA)

for their “Saflex CP — Saflex and Saflex HP Composite Glass Interlayers with
PET Core” dated 03/28/13, expiring on 12/11/18.

STATEMENTS

1.

Statement letter of conformance to and complying with FBC 5™ Edition (2014),
issued by W. W. Schaefer Engineering & Consulting, P.A., dated 04/15/14, signed and
sealed by Warren W. Schaefer, P. E.

Statement letter of conformance to and complying with FBC—2010 and
ANZI/ AAMA/ NWWDA 101/ 1.8.2-97, issued by W. W, Schaefer Engineering
& Consulting, P.A., dated 06/05/13, signed and scaled by Warren W. Schaefer, P. E.
(Submitted under previous NOA No. 13-0717.09)

Statement letter of independence and of no financial interest, issued by W. W.
Schaefer Engineering & Consulting, P.A., dated 06/06/13, signed and sealed by
Warren W. Schaefer, P. E. (Submitted under previous NOA No. 13-0717.09)
Distributor Agreement between Helmut Peetz GmblIl, Kall (NRW), Germany and
Peetz Windows and Doors, Inc., Florida, USA, dated 06/24/13, signed by Christian
Peciz and by Eva Matrie Leon, respectively.

(Submitted under previous NOA No. 13-0717.09)

Department of State Certification of PEETZ WINDOWS AND DOORS, INC. as a
for profit corporation, active and organized under the laws of the State of Florida,
dated 10/01/03 and filed by the Secretary of State.

Laboratory addendum letter for Test Report No. ATI-B5205.01-450-18, issued by
Architectural Testing, Inc., dated 11/06/13, signed and sealed by Vinu J. Abraham,
P. E. (Submitted under previous NOA No. 13-0717.09)
Laboratory compliance letter for Test Report No. ATI-B5205.01-450-18, issued by
Architectural Testing, Inc., dated 06/20/13, signed and sealed by Vinu J. Abraham,
P.E. (Submifted under previous NOA No. 13-0717.09)
Proposal No. (9-13882 issued by Product Control, dated 11/19/09, signed by Jaime D.
Gascon, P. E. (Submitted under previous NOA No. 13-0717.09)

OTHERS

1.

Notice of Acceptance No. 13-0717.09, issued to Peetz Windows and Doors, Inc. for
their Series “Impact 10 FT. 9%~Inch Wood Qutswing Bi-Fold Doors — L.M.L>,
approved on 11/21/13 and expiring on 11/21/18.

e,

Jaime D. Gasc?ﬁi?P. E.

Product Control Section Supervisor
NOA No. 14-0429.05

Expiration Date: November 21, 2018
Approval Date: June 19, 2014




GENERAL NOTES: SPECIFID, THEY AY KOT BE USED FOR THe Sebmbir || ek |
1. THESE DOOR SYSTEMS RAVE BEEN TESTED, ANALYZED & APPROVED FOR THEY B USED FOR, RATIONAL ADJOR. LoCA. AMPROS. (| ie2e | arosys
DESIGN PRESSURES NOT TO EXCEED THOSE SHOWN IN THE "ALLOWABLE DESIGN OF MY PRODUCT NOT PRODUCED BY THE MANUFACTURER
PRESSURE TABLE(S)". : 5
2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIONED & S
INSTALLED TO TRANSFER WIND LOADS TO THE STRUCTURE. N
3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE
DETAILED ELEVATIONS SHOWN
DRAWINGS & SHALL NOT VARY UNLESS SPECIFICALLY MENTIONED ON THE
ALLOWABLE DESIGN PRESSURE DRAWINGS. SPECIFIED ANCHOR EMBED TO BASE MATERIAL SHALL BE BEYOND ﬁggsgggﬂgoggf*gggggw z
+/-70 PSF WALL FINISH OR STUGCO. 70 SHOW ALL APPLICABLE £
4. THE DETALS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS DOOR SECTIONS & ANCHOR 2
TESTED & PROPOSED FOR WATER, AIR, IMPACT, CYCLIC & UNIFORM STATIC AR CONDITIONS. . FOR AL &
PRESSURE TESTING IN CONFORMANCE WITH THE FLORIDA BUILDING CODE ELEVATION CONEIGURATIONS z
PROTOCOLS TAS—201, 202 & 203 FOR LARGE MISSILE IMPACT DOORS. APPLICABLE TO' THIS :
5. THESE DOOR SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH AND MEET APPROVAL SEE SHEETS 9 g
FRAME ANCHOR REQUIREMENTS TABLE THE REQUIREMENTS OF THE FLORIDA BUILDING CODE (FBC) INCLUDING HIGH THROUGH 11. =
VELOCITY HURRICANE ZONES (HVHZ). 2
OPENING TYPE FRAME/CLIP TO OPENING MINIMUM| MINIMUM 6. IMPACT SHUTTERS ARE NOT REQUIRED WITH THESE DOORS.
(SUBSTRATE) FASTENER TYPE EMBED [EDGE DIST. 7. ALL ANCHORS SECURING DOOR FRAME TO PRESSURE TREATED BUCKS OR
FRAME SCREWS WOOD FRAMING SHALL BE CAPABLE OF RESISTING CORROSION CAUSED BY THE 9
PRESSURE TREATING CHEMICALS IN THE WOOD. HINGE REQUIREMENTS =
MIN. 2X4 WOOD FRAME OR BUCK o, 14 S _ 1 ] 8. DETERMINE THE POSITIVE & NEGATVE DESIGN LOADS TO USE WHEN FRAVE FEIGHT QUANTTTY o0l
(MIN. GR. 3 & G=0.55) - MS OR WOOD" SCREW 1/ 1 REFERENCING THESE DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE ) PER PANEL 53
; ; AND GOVERNING WIND' VELOCITY. FOR WIND LOAD CALCULATIONS IN ACCORDANCE - Q5
MIN. 16 GA. 33 KSI METAL STUD | 1/4" GR. 5 SELF TAP/ORILL SCREW | FULL 1/2 WITH THE FLORIDA BUILDING CODE, A DIRECTIONALITY FACTOR OF KD = 0.85 MAY OVER 93 15/16 4 “ERk
MIN. 1/8" THK A36 STEEL 1/4” GR. 5 SELF TAP/DRILL SCREW | FULL 1/2 BE APPUED PER THE ASCE-7 STANDARD. 93 15/16 AND LESS 3 Sy g
MIN. 1/8” THK 6063-T5 ALUM. | 1/4” GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" 9. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE CERTIFICATION EXTERIOR BINGES SHALL BE 2hulg
(2) MIN. C—-90 CMU () 1/4” CONCRETE SCREW Ve 2 172 OF oS PRODUCT. WIND LOAD DURATION FACTOR CD = 1.6 WAS USED FOR LOCATED APPROXIMATELY " 8526
MIN. 2500 PS| CONCRETE (0 _1/4" CONCRETE SCREW 1/2" | 2 1/2" 10, MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL SCREWS, THAT COME INTO 3718 o ROM TOP & BOTIOM | | & | E553
ANGLE CLIP INSTALLATION SCREWS CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE REQUIREMENTS OF CENTERUINE. s E;g
FLORIDA BUILDING CODE CHAPTER 20. NTERIOR HINGES SHALL BE &
MIN. 2X4 WOOD FRAME OR BUCK NO. 8 SMS SCREW ' 3/8" 1/2” 11. ALL WOOD MEMBERS OF DOORS THAT MAY POSSIBLY COME INTO CONTACT LOCATED APPROXIMATELY 8 i
(MIN. GR. 3 & G=0.55) ) WITH MASONRY OR CONCRETE SUBSTRATES, ARE SUBJECT TO MOISTURE &/0R FROM TOP & BOTTOM OF Q la e
MIN. 1/8” THK A36 STEEL NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" ARE SUBJECT TO THE OQUTSIDE ENVIRONMENT SHALL BE OF AN APPROVED PANELS TO HINGE CENTERLINE 1l <
/ . DURABLE SPECIES OR BE TREATED IN AN APPROVED METHOD WITH AN APPROVED ' o 2
MIN. 1/8" THK 6083—-T5 ALUM. |NO. 8 GR. 5 SELF TAP/DRILL SCREW FULE 1/2 PRESERVATVE PER FBC SECTION 2376. o I3
=
NARROW INSTALLATION BRACKET SCREWS . | RODUCT RAVISED A
MIN. 2X6 WOOD FRAME OR BUCK N N CORNER CONSTRUCTION: as caraplying with the Florida ‘? %8 -
(MIN. GR. 3 & G=0.55) NO. 8 SMS SCREW 13/8" | 3/4 STANDARD FRAME_HEAD_& SILL; VERTICAL MEMBERS. ARE COPED, BUTTED. SECURED_ANDBuilding Code 4 4 25 SN
, _ SEALED TO THE HEAD MEMBER WITH SIKASIL SG—20 STRUCTURAL SEALANT. Acoeptnce No o o | zO R,
MIN. 16 GA. 33 'KSI METAL STUD |NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2 RADIUS SEGMENTED HEAD FRAME: HEAD MEMBER SEGMENTS ARE MITERED, BUTTED AND mm“mf-@g{fiﬁff 24148 = | S 8.8
MIN. 1/8” THK A36 STEEL  |NO. B GR. 5 SELF TAP/DRILL SCREW | FULL /2" SECURED WITH FOUR(4) 3/8” 3 1/8” WOOD DOWELS PER HEAD SEGMENT. SEGMENTS my.— “he ficow.. Q| & kyd
MIN. 1/8” THK 6063—T5 ALUM. |NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL | 1/2° ARE GLUED/SEALED VATH BINDAN D4 WOOD GLUE. Mgl ede Produst Control ™ S Edéﬁé’?
90 DEG. HEAD TRACK MEMBER: TRACK MEMBER SEGMENTS ARE MITERED, BUTTED AND = i3
: A! " Z 5w
WIDE INSTALLATION BRACKET SCREWS SECURED WITH TWO(2) NO. 14 X 3 15/16" WOOD SCREWS THAT RUN THROUGH THE fiomimine iiiguitisee S| 258z
MIN. 2X6 WOOD FRAME OR BUCK » » TRACK INTO THE ADJOINING HEAD MEMBER. CORNERS ARE SECURED AND SEALED WITH bate __ WP Dy gg ROR gh2
(MIN. GR. 3 & 6=0.55) NO. 8 SMS SCREW 13/8% ) 3/4 SIKASIL SG—20 STRUCTURAL SEALANT. NN g Lo Bz 5T
MIN. 16 GA. 33 KSI METAL STUD |NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 7 RADIUS SEGMENTED SILL MEMBER: SILL MEMBER SEGMENTS ARE MITERED AND BUTTED Mt hetutdy SRR
. o 5 R A SEL _ AND SECURED WITH TWO(2) 3/8” 3 1/8" WOOD DOWELS PER SEGMENT AND L EH - FEN
MIN. 1/8” THK B0B3—T5 ALUM. |NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2” RADIUS SEGMENTED TRACK MEMBER: TRACK MEMBER SEGMENTS ARE MITERED, BUTTED i
(2) MIN, C-90 CMU (1) 3/16” CONCRETE SCREW 11/4" 2" AgD EgLL;L‘i’%RELD-T EMBER: TRACK 2,
_ 0 3/16" CONCRETE SOREW 75 ; 90 DEG. RACK M : MEMBER SEGMENTS ARE MITERED, BUTTED < 3
MIN. 2500 PSI _CONCRETE / 11/2 2 AND SEALED WITH SIKASIL SG20. ADDITIONALLY A CORNER KEY IS USED (ITEM #42). THE — |53
ROLLER STILE END CLIP SCREWS CORNER KEY IS ATTACHED TO FACH SILL MEMBER WITH FOUR(4) m5 X 3/4” MACHINE o |B3g
MIN. 2X4 WOOD FRAME OR BUCK |  NO. 18 SMS OR WOOD SCREW , ; SCREWS. ] u
(MIN. GR. 3 & G=0.55) OR 5/16” LAG SCREW 1172 1 MID—RAIL_ENDS: MID—RAIL IS COPED, BUTTED, AND SECURED WITH TWO(2) 3/8” X 3 S
. - - , PER END. ENDS .
P —— () 5/16" CONCRETE SCREW VAR 1/8” WOOD DOWELS PER END. ENDS ARE GLUED/SEALED WITH BINDAN D4 WOOD GLUE
(1) CONCRETE 1/4” OR 3/16 SCREWS SHALL BE ELCO ULTRACONS (C.S.), FLCO CRETE—FLEX
(S.S.), ITW RAMSET/RED HEAD TAPCONS (C.S. OR S.S.) OR HILTI KWIK—CON i (C.S OR S.5.) . _ DRAVING NO. [ REV.
(2) CMU IS APPLICABLE AT SIDES ONLY (NOT APPLICABLE AT HEAD OR SILL). gL 1680 _
|| (3)5/16” CONCRETE SCREWS SHALL BE ELCO ULTRACONS (C.S.) 1 o 19




OVERALL MAXIMUM FRAME WIDTH VARIES WITH THE
QUANTITIES OF PANELS USED iN THE DOOR UNIT
3" 70 5" 8" 6" 3" T0 5" 6" 6" 3" 10 5’ 1 !6" 6" ! 3" 0 5" 6 6" 3" 10 5° 8" 6" 3" 70 5"
e N an s IR AR R H® e
1 2 |
ki Al v v hval v v v v | hv A4 hv AR vl v vvv v 99 v v v
f ' 7 3/47 MAX.
= [ &
N 7 /& <// 7 f
b HINGE / \ CER
OPPOSITE SET CPPOSITE QOPPOSITE
A A /Y AN (EI [ D ¢
N3/ v 13/ ~ / 13/ ™ \ \13/ ~ 13/ ~ \13/ ~
51 ! \ |
ol M M el
L INACTIVE ACTIVE
= O
T B \
i ’
3 FRAME SCREWS,
g . \ INSTALLATION CLIP, 1
© NARROW T.
% > INSTALLATION N ;< QK N ,/_@( g.( NLY
o BRACKET OR WIDE
N~ o INSTALLATION ] /
N3 || BRACKET WHERE
- il | SHOWN. SEE A {59 /
"FRAME ANCHOR L =/ FANDLE ]
TABLE" ON SHEET 1 | '
D FOR REQUIREMENTS. N\ / ) [
\ 7 OPPOSHE 377 MAX.
/ . DLO. —-
| y / — (ALL PANELS)
A 2 % /4 V. l
\ i) } | 7 3/4" MAX
Ay D 8 A A A A A A A A A A A O A A i. 0 A A AA A A A ] A A A Fay
SEE CORNER—— ™ 7 4 ’
CONSTRUCTION
DESCRIPTIONS
ON SHEET 1
EXTERIOR ELEVATION;
LEFT & RIGHT DIRECTION BI—FOLD DOOR WITH DOUBLE SWING PANELS
SCALE: 1/2" = 1'-0"
%§%§¥5§§£5
PRODUCT RBVISBD
Agpmvcdmcnmplyﬁm as coraplying whh ﬁkaIfﬁ.@ _

Florida ﬁuﬁdmg Ce

od. % Buitding Code

DRAMN BY:
WRA

CHECKED BY:
LAY

PLOT:
1=24

DATE:
06/03/13

DATE

BY

REVISION DESCRIPTION

MANUFACTURER

41ST STREET; SUITE 150

WESTON, FL 33331
954—659-3887

PEETZ WINDOWS & DOORS

15951 SW.

WOOD IMPACT OUT—SWING BI-FOLD DOORS

CONSULTANTS

7480 150TH COURT NORTH

PALM BEACH GARDENS, FL 33418
PHONE: 564 =744~3424

W. W. SCHAEFER ENGINEERING
& CONSULTING, P.A. (CA 6809)

21 2013

N W. SCHAEFER, P.E.
P.E NO. 44139

a:f Acceptance No BIAWING MO
JplramDRtB L )
ot Dt 1680
SHEET NO.
2 o 19




OVERALL MAXIMUM FRAME WIDTH VARIES WITH THE

QUANTITIES OF PANELS USED IN THE DOOR UNIT
3" T0 5" 3" 10 5 370 5" 6" 6" 3" 70 5"
cwor ] A TS e
A koA v A~ A v v v 2 i
ﬁl’ 7 3/4" MAX.
jx ) K
N % \<// 74 f
N HINGE CER 2
OPPOSATE OPPOSHE
oY (D L /E3N | D C
13/ v \13/ v \13/ v NEY v 13/ v
— B K
&
w =
z° > <
2o
i FRAME SCREWS,
g 5 \ INSTALLATION CLIP,
it NARROW 44 .T
o INSTALLATION LY Lo x ’ N
N BRACKET OR WIDE
~ o INSTALLATION
~y [l | BRACKET wrere
- il | SHOWN. SEE 5
"FRAME ANCHOR 1
REQUIREMENTS 17" MAX. 0.C
TABLE” ON SHEET 1
R FOR REQUIREMENTS. 4 l
37" MAX.
.—  bLO. —-
| (ALL PANELS)
AT Y Y Z\lih— L
\ ‘ 7 3/4" MAX.
\ A/’ A A A A A A A A A4 A LA A A 3 A A A A f
SEE CORNER——"~— 4
CONSTRUCTION
DESCRIPTIONS
ON SHEET 1
EXTERIOR ELEVATION;
LEFT & RIGHT DIRECTION BI—-FOLD DOOR
SCALE: 1/2" = 1’0"
PRODUCT REVISED

Appioved 83 camplybig with the

Date
NOr»‘.ﬂ
i

Florida Bmldmfi(‘féc ,

e

il pplpéud-(jb H‘O‘

"

as complying with the Plotida

g Building Code ,ia

Acccptmme No
;_x;umuou Date

I3} o

;(Q ol B b

M - LD ES

429

{iami Dade Produgi Control

LuhbitEdss
z-%?‘%)%%hg:é-ﬁi:

CERTIFICATION

Tforawn BY:
WA,

CHECKED BY:
WHS.

PLOT:
1=24

GB/IJJ/lS

DATE

BY

REVISION DESCRIPTION

NO.

WESTON, FL 33331
954—-659-3887

PEETZ WINDOWS & DOORS
15951 S.W. 41ST STREET; SUITE 150

MANUFACTURER

WOOD IMPACT OUT~SWING BI—-FOLD DOORS

DRAWING TITLE

7480 130TH COURT NORTH
PALM BEACH GARDENS, FL 33418
PHONE: 5617443424

W. W. SCHAEFER ENGINEERING
& CONSULTING, P.A. (CA 6809)

CONSULTANTS

[~ “DRAWING NO. REV.

1680

12013

¢ SCHAEFER, P.E.
" NG. 44135

>

s

3

SHEET NO.

of 19




DRAWN BY: CHECKED BY:
W.RAL, LAY
OVERALL MAXIMUM FRAME WIDTH VARIES WITH THE I
QUANTITIES OF PANELS USED IN THE DOOR UNIT -
3)’ To 5)) 6” ” 3]) TO 5” 6" 6" _3” TO 5!! 6)) 5)) 3)! TO 5” tf(_)
8" MAX ] I_m ' I l ITI l @ _ 8" MAX_
] Pt P S , &-, |
kv kvl v A v il v v vivi ! AR v v} hvil vl v kvl v v 4 hvd
E m 7 3/4" MAX. . !
B 1 o
f k
\\// % // /// ./’ %
HINGE CARRIER CARRIER 3
[ SET OPPOSITE SET < &
A JAOA (EN /O (U G g
NEY v i3/ ~ 13/ ~ \13/ ~ 4/ e 3
— P <
I
8 R e rr— e —— e i . %
I o -
W nH
= e B ki s
[a'd - oW
L ié =SSV E N
= FRAME SCREWS, £
2% \ INSTALLATION CLIP, zgg"”%;
© NARROW 7_. .T G
o B INSTALLATION ) &) & / N S, 8
oy BRACKET OR WIDE wl| 2288
N INSTALLATION S| =¥y
% [l Bracker where S| p=%
-~ N SHOWN. SEE 3 Ew'
"FRAME ANCHOR ] S k%
REQUIREMENTS 17" MAX. O.C. 2l 3
TABLE” ON SHEET 1 JIE -
All| FOR REQUIREMENTS. y | o B
377 MAX. 2 = —
N ~—  DLO. —- ]| o2
G3/ ~ (ALL PANELS) T1 28
e [oe]
Al % Y 7 2 it—1 5| e §
= 7 3/4" MAX © | 288",
\ / ) [ 6 . Oll'g
< 9/ Fog A LA AAE | AAG A AD Fogr o t Q |_,Z_|"§;w_"1’
SEE CORNER——"~— q s | o™ gEd
CONSTRUCTION 2| Bg e,
DESCRIPTIONS S nER
ON SHEET 1 L= "Bz
EXTERIOR ELEVATION: =2 |33 582
SINGLE DIRECTION BI-FOLD DOOR ¢ [5=8"2
SCALE: 1/2" = 1"-0" S8
. . | y
E_‘l_ﬁ a
ST
by
&g

PRODUCT REVISED
Appioved 1a omnpl; g vt de a5 complying with the F tonda
Floridn Building Ly Building Code 4 -

Date et Acceptance No

NOAT fﬁﬁ , G{? [‘.Kpuatmn Dam

Mmrmj\}:,d« l’:g.iu«i A?u " DRAWING NO. |REV.
' gf%«uw P,

d tContm!
o Vi ot Frodus SHEET NO.

4 of 19

| fgﬁ*’*”‘ . A :




OVERALL MAXIMUM FRAME WIDTH VARIES WITH THE
QUANTITIES OF PANELS USED IN THE DOOR UNIT
3" 10 5" 6" 6 3" 70 5" 6" 6" —3" 10 5" 6” 8" 3" 70 5" 8 6" 3" 70 5
s wx— ] M M ﬂﬂi | i:l_rf W%@( R Y
hv AV V. v | v vy VY. 9 } v 9 v hv.4 hvd | Av4 v 9 AV RV v 4 hv4 ‘
ﬂ m ’ 7 3/4" MAX.
™ |
\% 7 % P 7 T
E CARRIER /
[ SET OPPOSITE CPPOSITE K
£ DN (EN /N /D) | C
NEY v \NEY v \13/ i / \J14/ v \13/ . \13/ v
b g / | q
& » —-— R —_ .
o5 / [ACTNVE i
w =
2 / q
o<
2 FRAME SCREWS, |
Z%o \ INSTALLATION CLIP, @
— NARROW 7—. 44
TS INSTALLATION 3 LOeK \ \\ ch NI N
T BRACKET OR WIDE
N INSTALLATION
Ny BRACKET WHERE
- N SHOWN. SEE @_\& 4
"FRAME_ANCHOR HING£ HANDLE A E }
REQU]REMENTS 9 17" MAX OC
TABLE” ON SHEET 1 . 0.C.
) FOR REQUIREMENTS. \ ) ’ [
\ 37" MAX.
EN .~ DLO. —]
1 NN, ~ (ALL PANELS)
AT\ 4 7 2% Y M. 1
1 . -1 7 3/4" MAX.
N fyf A A A - A AA A ATA ATATA A AA O A A & A A i A A A Fay yﬁ
SEE CORNER——~— q
CONSTRUCTION
DESCRIPTIONS
ON SHEET 1
EXTERIOR ELEVATION:
LEFT & RIGHT DIRECTION BI~FOLD DOOR WITH SINGLE SWING PANFL

SCALE: 1/2” = 1’0"

NN \/

PRODUCT REVISED

Appioved os cainy .ying wfﬁl the

Honrlqﬂm.(l 11 €

as camplying with the l‘lomla
Building Code ) p
Aceeptance No

];:pl;ﬁim Dﬂie

DRAWN BY:

CHECKED BY:

WRuM, WS,
PLOT: DATE:
1=24 06/03/13
=l
=
3
&
jrd
2
o
o
&
A
=z
=]
I
o
o
g

(o)
ud
Qi
o2
ofﬂ;
°3|_,_,m00
e
g}___lf
nie o
(@ LUy
[ il
nl] 2val
2| ESon
8 Lo
a) Eig
Ll
)
o u)
ol
i E -
m =
o3
£l =
=zl o
21 28
S| bis &
L
O | =8 g8,
| 8758
ol <250
< Q_Emg;
| 368
= e og L
uzgg{?y
(] = 81,
O I_!.U-)og
o 0= ol
SE= %’mw %5
5.8 ~3
aFC &
é %'gs
S o=

0CT.21 2013

DRAWING NO.

1680

SHEET NO.

5 oF 19




ROLLER STILE END
CLIP ANCHORS PER
"FRAME ANCHOR

REQUIREMENTS

i

EtS »

OVERALL MAXIMUM FRAME WIDTH VARIES WITH THE

QUANTITIES OF PANELS USED IN THE DOOR UNIT

»

»

»

370 5 8" 6 3" 10 5” 8" 6 3" 10 5” 8" 6" 3" 70 5 8" 6 3" 70 5” 6" 6 3" 10 5"
cwe RO R TR O T T S
v Lr A v v9 Av v V] ! vl vl v) Tve9 | vwvw 2 99 ! hv B vallvi Av A v v Lvillv v L] ‘
’iL CE IE 7 3/4” MAX.
B ki
N 7 < : 7 74 f
pC) 0
b OPPOSITE OPPOSITE orposiTe | |}
O A JAEA JARAY K C
13/ v U4/ v 4/ \ \14/ ~ 4/ v a3/ v
by K
= \
Y s = - ACTIVE] "\ E - -
W
z° N N\ 4
I
o FRAME SCREWS,
§< 5 \ INSTALLATION CLIP,
s NARROW 44 44
TN INSTALLATION N} Z LC@.% / o N N
T BRACKET OR WIDE
~ oo INSTALLATION /
S [ | BRACKET wHeRre i
- SHOWN. SEE il 62
’ "FRAME ANCHOR SEE "ROLLER \_. : HANDLE / N {
REQUIREMENTS STLE END ' / 17" MAX. 0.C
TABLE” ON SHEET 1| | | CLIP_DETAL C
ON THIS
FOR REQUIREMENTS. , f
D SHEET (REQ'D ” <
AT ALL ROLLER OPPQSITE 377 MAX,
STLE ENDS /I I\ —  DLO.  —
1 OF RADIUS N\ INEY A (ALL PANELS)
AT Zl|ws~ 7 W ® 7 Z 1
\ ‘ N A4 ARK Il 7 3/4" MAX.
N e/’ A AA LA A \AAA{T]T lAAA AAA{W‘AAA AAAAILAAA Fa¥ ’
SEE CORNER CONSTRUCTION 4
DESCRIPTIONS ON SHEET 1
CLIP) A RADIUS BI-FOLD DOOR
. no_ gt A RODUCT REVISED
‘., /K/ & SCALE: 1/2" = 1'-0 as complying with the Florida
< Building Code

SCALE: N.T.S.

ROLLER STILE END CLIP DETAIL

(DOOR PANEL & INTERIOR SECTION OF
THRESHOLD NOT SHOWN FOR CLARITY)
NOTE: THIS CLIP IS REQUIRED ONLY WITH CURVED DOOR
UNITS (NOT REQ'D WITH STANDARD FLAT UNITS)

RADIUS OF DOOR
IS NOT LIMITED.

Acteprancs No
Expiration Dyte ¢

) & o
Ry*"“‘””“”:s;" M« e e

Approved as complying with gke
Florida Buildipg Co

Date g wmpok 75 1j§f%f

NOA#

Miami T35 >

; [ -
By ¥ihe Do n -

l\"ﬁhﬁi‘!! Dads Product Control ™™

s T

DRAWN BY: {CHECKED BY:
WRW WHS,

PLOT: DATE:

I 1=24 06/03/13

2

o

2z

=]

=~

o

o

o]

4]

[=]

2z H

Q

5

'3

o

=

=)
uy
w3
(=R
V5
cepey I
i
Ll & sy
=g},‘ﬁ_:_]l
wnit-o
B F©
ni 2204
o ;ﬂ‘}(}}m
o Ll
S| p==
L
] 5ﬂ.‘_
olE 3
TE 2
o |5
prd
o 12
sl 3
=1 o
(T4 28
I Eo 5
El Ue s
o z-.‘:lg:"ﬁ
O  o.9
5 Z{zlﬂ:?
<€ mn_%im'g
o 25
r oW
= h.l(_p"‘-’ncz
o bZEém
o | =583y
m — =z
10 85D g
= E ngal
= <ng o
B0 "é
= %;0 @
z -
8x3
]
oo
g%
93
5.
a2
<l

DRAVING NO.

1680

SHEET NO.

6 or 19

REV.




DRAWN BY: CHECKED BY:
WRAL WWS
| OVERALL MAXIMUM FRAME WIDTH VARIES WITH THE OVERALL MAXIMUM FRAME WIDTH VARIES WITH THE e Peyn
QUANTITIES OF PANELS USED IN THE DOOR UNIT QUANTITIES OF PANELS USED IN THE DOOR UNIT | - 4
3’ 10 5 6” 33 ™ 3 6" |6 H— 3" 10 5” 6" 6" 3" 10 5" 6" 6" 3" 10 5 i
¢ wet] MR TR e,
A4 V v < v 9 2 v 9 AV v v 4 AV AR VY4 | v 2 3 N v I hvd b
1 IE 7 3/4" MAX, i
¥ Ki g
“ N[~ il 4 % | :
NGO :
(D _ / I
NEY N / B
P
& / i
* g ACTIVE -
Ll . [%¢]
z - By / 3 x5
2 FRAME SCREWS, 8 Be
%% \ INSTALLATION CLIP, eCiRd
— NARROW 3 ) 44 g i
o INSTALLATION 1% O.CK \ .K \ o N{IY A %,TLL 3
T BRACKET OR WIDE 0w| 2951
~ o INSTALLATION \ el =355
< BRACKET WHERE ] E S E-;%’"’
- N SHOWN. SEE N \ 4 o1 We
"FRAME ANCHOR AN HANDLE ] A
REQUIREMENTS \ 17" MAX. 0.C 2 |§ 3
» HINGE v o v
TABLE” ON SHEET 1 LE -
||| FOR REQUIREMENTS. \ ! | i Z
37" MAX. LEFT SIDE \ RIGHT SIDE = =
— D.LO. . 5| 28
ALL PANELS I
ro o
p % 7 % % 74| | n— 5 | B 3
i £ 7 3/4" MAX. Zo87
= A AA A A LA AL A4 LA A A AL A A A | BABLA = 5 ,_,Z_,‘dey?
| | £ o 50
x ,38%
Z | wgogl
ol BZ Eg“@’
[, O E: o5y
EXTERIOR ELEVATION: £2 £33 §§§
LEFT SIDE (2—PANEL) 2 LT EDZ
CORNER BI-FOLD DOOR z |3F0 &
SCALE: 1/2" = 10" e 5zs
(FOR ALL DETAIL NOT SHOWN, SEE OTHER

NON—RADIUS ELEVATIONS)

2013

FRONT SIDE (3—PANEL)

NO. 44135

I with e PRODUCT REVISED
Approved os songlyng as complying with the E londa

WARREN/W./SCHAEFER, P.E.

ettt
DRAWING NO. }R

1680

SHEET NO. .

2

ﬁl Flodda Building Cpde i
i ; s PBuilding Cod e p
\ g LA PG M - 049 9. 085
Mt pr riration Date _,:azz_%ﬁ Zf. ﬁiﬁ /
. By)#»féi_,m:) . e B)" ; éig’ NS IV

—— vhamj Da{]e Product Centrol

/ o 18




% %
t %
I 377 MAX. 4
= D.L.0. g
o S
2
q
0 59 5/8" MAX.
o WOOD PANEL
= OPENING
37" MAX.
D.LO.
2
GLASS DOOR PANElL WI[TH PARTIAL WOOD PANFL
MID—RAIL DOOR WITH MID—RAILS
SCALE: 1/2" = 1'-0" SCALE: 1/2" = 1'-0"

PANEL NOTES

1. ONE HORIZONTAL MID—RAIL IS SHOWN IN EACH ELEVATION. MULTIPLE HORIZONTAL
MID-RAILS MAY BE PLACED IN EAHER A GLASS PANEL OR PARTIAL WOOD PANEL
DOOR.

2. WITH PARTIAL WOOD PANEL DOORS, THE WOOD PANELS MUST BE CONTINUOUS
BETWEEN HORIZONTAL MID—RAILS. IF VERTICAL MID—RAILS ARE DESIRED BETWEEN THE
HORIZONTAL MID—RAILS, THEY MUST BE FALSE RAILS SUCH THAT THEY ARE LAMINATED
T0 THE PLYWOOD PANEL SURFACE.

i mg with #ee PRODUCT RE\_[ISED )
ﬁ%ﬁ:;:gjuﬁiﬁg ngymg it e _f!i E} as complying with the Florida

) LA L7 1./ Buitding Code A4 fﬁé - ) '
ggi@"l‘ - f : @q Acceptance Noi ] g‘ﬁ% 2 € Q
Mi&nﬁ:;t‘- Ztroduct Cop v Expiiation Dmcm {@@%ﬁ’

N ; S .
---------- R D e By Tttt s

4 3 S T whami Da

de Preduct Cantrol™- .

2

S

BRAWN BT: CHECKED BY:
WRU WHS
PLOT: DATE:
=24 06/03/13

B

(=]

[

=4

2

o

o

Q

g

©

z

S

@

o

o

e

2

o
T3]
Ly
=
Oaﬁ
R
et
m,é‘f_u
A
e
%) 2}‘3—.%4
Q Lo
2| E==
gv
I
o uy
ol R
1 g -
m |2
o |2
H] Z —
z| o3
U) Zm
| ¥ o .
15 hu_lq: ¥
o | zE8g",
]6 %4:%&"%
b4 mu‘};%‘&
o v our
= ~ 801
= | BQ %z
ol wggee
O | R0 23Y
O h O ogg
- = E&Z(ﬂ%@ &
Ko 5 ,0"';
s ago a
firugs z
%4%%%:.§;§.%é§.§/i}ﬁ{.. E 83&3

ul

[+ %

99 .,

| oo} B:J'r}

«J u_;

N i ¥¢

B 5

mz
-
(5]

DRAWING NO.

1680

“ SHEET NO.

8 o 19




STRAIGHT LINE LAYOUT

2 - PANEL

NS
3 - PANEL
NS
<=
4 - PANEL

5 - PANEL
NN
AV AV v
A4
ANV ANVAN

6 - PANEL 8 - PANEL
INININ NNININ
NSNS\ NINININ /
NN/ 7 NAYAYS N/
NN N\ NNZS avd
N AN AY NN/ NSNS
NN\ 7 AR AYAYAY4
7~ PANEL NN \/\/
NNNS NN NN
N NN 7
NNS N WHILE UP 10 8 PANELS IN ONE OPENING IS SHOWN, THERE
IS NO LIMIT TO THE NUMBER OF PANELS IN ONE DOOR
\/\/ 7\ FRAME OPENING PROVIDING THE OPENING IS DESIGNED TO
SUPPORT THE LOADS TRANSFERRED FROM THE DOOR SYSTEM
ININ SN/
NN NN
INININ

L84 é§fﬁf

JUCT REVISED
Arproved s mmpiyhls with €09 23.{3}111;3\9"‘5 with the F!ond a

gg;;da Bm}d' % Cof L Building ("‘0;1(: A
T e AL Acceptonce No L .
NOATT| P loged " o s
Miami DR0F Product Control Expiration Date i, ;ﬁﬁ¢wﬁﬁﬂ
".,." \Q r ! ' ; 77777 m k‘rﬁ:-}\)w\h
F = Ii\g;nnfgﬂ{]e Product CmumT“«

DRAYN BY: CHECKED 8Y:
WRAL HWS

PLOT: DATE:
1=24 05/03/13

iz

[=)

=z

&

&

7

o

=z

o

73

&

74

[o]

=z

WESTON, FL 33331
954-659—3887

PEETZ WINDOWS & DOORS
15951 S.W. 41ST STREET; SUITE 150

MANUFACTURER

WOOD IMPACT OUT—SWING BI-FOLD DOORS

7480 150TH COURT NCRTH

& CONSULTING, P.A. (CA 6809)
PALM BEACH GARDENS, FL 33418
PHONE: 561-744-3424

CONSULTANTS
W. W. SCHAEFER ENGINEERING

DRAWING TITLE

2013
/" SCHAEFER, P.E.
' NO. 44135

0cT
P,

WARR

[ DRAWING NO. |REV.
1680

SHEET NO.

9 o 19




90° CORNER LAYOUT

CONFIGURATIONS FOR RIGHT SIDE PANELS,

VIEWED FROM EXTERIOR.

YAAVANAY SV AV AV / \/\/\/\/

i

AVAVEN AW AV AN /’l\/\/\/\

i

/\/\

5-PANEL

NS/
|

4 - PANEL

N/

3 - PANEL

g

2 - PANEL

_

1- PANEL

B

i

1-PANEL 2-PANEL 3-

7 LN\ ///\/\/\

VY YYNYN

[
l/\/\/\

i

S L NSNS

NN NN

7 - PANEL

NINSN

//\/\

/
m

L NSNS

VA VAV

e
7
7

6 - PANEL

PANEL 4 - PANEL

CONFIGURATIONS FOR LEFT SIDE PANELS,

VIEWED FROM EXTERIOR,

é
N

m/\/’\A.Lﬂ/
/\/\,/\,/ﬁ/’

8 - PANEL

WHILE UP TO 8 PANELS IN ONE OPENING IS SHOWN, THERE || pw
IS NO LIMIT TO THE NUMBER OF PANELS IN ONE DOOR B 7
FRAME OPENING PROVIDING THE OPENING IS DESIGNED TO S

SUPPORT THE LOADS TRANSFERRED FROM THE DOOR SYSTEM| —~—~——————

90° CORNER COMBINING I
X - PANELS RIGHT SIDE :
Y - PANELS LEFT SIDE s
VIEWED FROM EXTERIOR. -
!RODU( T REVISED g
EXAMPLE: b somplying v he Floridy al |1
4 - PANEL (LEFT SIDE)L:m%%;g;ggf o=
oy %E" L5 %
/\/ Mieed Bedo Product é’o?ﬁ?a 3
HINGE STILE 3@%%
e 2. PANEL | | g
CORNER (RIGHT SIDE) 2881
o I

NSNNIN

. ]
NN NN

ININININ

§

6 - PANFL

9 - PANEL

NN 2NN

7 - PANEL

AVANR v wal

8- PANEL

MANUFACTURER

WOOD IMPACT OUT—SWING BI-FOLD DOORS

F480 150TH COURT NORTH
PALM BEACH GARDENS, FL 33418
PHONE: 5617443424

e
|

;% FTONSULTANTS
.4 S IW, W. SCHAEFER ENGINEERING

% F& CONSULTING, PA. (CA 6809)
SN

SHEET NO.

10 oF 19




CURVED LAYOUT . el
1= 05/03/13
2 - PANEL WHILE UP TO 8 PANELS IN || |I%
. % ONE OPENING IS SHOWN, -
1 V THERE IS NO LIMIT TO0 THE || |5
NUMBER OF PANELS IN ONE || |
DOOR FRAME OPENING &
3 - PANEL o PROVIDING THE OPENING IS || 2
| DESIGNED TO SUPPORT THE | {®
%1 LOADS TRANSFERRED FROM |l I3
%, THE DOOR SYSTEM 2

4 - PANEL

PRODUCT REVISED

a5 complying with the Florida
Building Code 4
Acceptance No

E“f}ii*m,P“F‘%g;?ﬁiﬁ-f Zo1E

i rooa
B}i"k"“"“‘“f "&&w—f"iﬁﬁaiﬂaa;ﬁ
Minnd Drade Product Controt

*1: SINGLE PANEL SEGMENTS AT INTERIOR
*2: DOUBLE PANEL SEGMENTS AT INTERIOR

~ *3: SINGLE AND DOUBLE PANEL SEGMENTS
AT INTERIOR COMBINED.

FL 33331
954-659-3887

PEETZ WINDOWS & DOORS
WESTON,

15951 S.W. 41ST STREET; SUITE 150

MANUFACTURER

WOCD IMPACT OUT—SWING BI—FOLD DOORS

7480 150TH COURT NORTK

W. W. SCHAEFER ENGINEERING
& CONSULTING, P.A. (CA 6809)

DRAWING TITLE
CONSULTANTS

PALM BEACH GARDENS, Fl. 33418

PHONE: 561-744-3424

1 2013

WARREN/W/ SCHAEFER, P.E.

B/ NG. 44138

[ DRAWING NO. R

1680

EV.

SHEET NO.

L 11 o 19




SUBSTRATE BY OTHERS PER "FRAME FRAME SCREW SUBSTRATE BY OTHERS PER “FRAME FRAME SCREW DRAWRL BY: — [CREEKED B
ANCHOR REQUIREMENTS TABLE™ PER ELEVATION ANCHOR REQUIREMENTS TABLF= PER ELEVATION FLOT: e
I N T T N T e L A I T I PR S, N ki %6
- - \ 3/8" MAX. 3/8” MAX_ — g
SHIM AT —
REGRARi ey EACH ANCHOR EACH ANCHOR 5
SEALANT BY—% SEALANT BY% ]
OTHERS OTHERS g
fa3
fal
=1 ] = 4
@ ]
GO~ SO 2
+ /® 2
I [— i
OO
S
=

5 c
n
pu
1)
=
&
SEE GLAZING &
M \/—DEFAILS ON
SHEET 16
7
\ 57
N
8
SIKASIL SG—20 3
SILICONE
SEALANT \
BY OTHERS

EXT.
FINISH
FLOCR

1 %\

REQ'D

(BY X
OTHERS) ©

SUBSTRATE BY OTHERS
PER "FRAME ANCHOR

REQUIREMENTS TABLE” SECTION N

SCALE: 1/2 FULL \J2/

3/8” MAX. |
SHIM OR GROUT

FRAME SCREW
PER ELEVATION

FRAME SCREW MOUNT SHOWN. SEE DETAILS ON SHEET
15 FOR DIRECT, CLIP & BRACKET MOUNT DETALS.

PER "FRAME ANCHOR
REQUIREMENTS TABLE”

=)

=

PEETZ WINDOWS & DOORS
15951 S.W. 41ST STREET; SUITE 150

MANUFACTURER

WESTON, FL 33331
954-659-3887

TYPICAL CARRIER/ROLLER

(FOR DETAIL NOT SHOWN, SEE SECTION A/12)

SECTION B
SCALE: 1/2 FulL \J2/

FRAME SCREW
PER ELEVATION MiamilJ5ie Piodus 6

5
FULLY GLUE l
MEETING
SURFACE WITH
BINDAN D4
WOOD GLUE
IEXTERIOR] =
o
Ll
I
<
& (16189
(4847
FINISH
FINISH FLOOR FLOOR
BY OTHERS SIKASIL SG-20 OTHER
SEALANT SILICONE:
BY OTHERS 7\ ; N
Y
2
P T | BRobyicT REVISED
?:ﬂg’; oo L plying with the Florld
d 1 Buildfog Code g
REQ'D o Eebtance No
&y Sirmion s
OTHERS) 4 EneNN
: e, T et Miiemi Dade Product Control ™,
SUBSTRATE BY OTHERS 3/8" MAX.

SHIM OR GROUT- Appraved ns complying with tke

Florida Building Cods. . |
Date _ o d
NOA#H#

(FOR DETAIL & INSTALLATION NOT
SHOWN, SEE SECTION A/12)

WOOD IMPACT OUT—SWING BI=FOLD DQOORS

HE

N

W. W. SCHAEFER ENGINEERING
& CONSULTING, P.A. (CA 6809)

CONSULTANTS

I me T,
A= 1680

1203

W SCHAEFE
B.F NO. 4413

o

PHONE: 5617443424

7480 150TH COURT NORTH

PALM BEACH GARDENS, FL. 33418

P.E.

%

SHEET MO.

12 of 19




3/8" MAX. SHIM
AT EACH ANCHOR

FRAME WIDTH

FRAME SCREW— "
PER ELEVATION

?

SEE GLAZING 0
DETAILS ON {
JSHEEI’ 16 i

SUBSTRATE BY—]
OTHERS PER _\
"FRAME ANCHOR :.~

REQUIREMENTS -3/
TABLE”

SCALE: 1/2 FULL. \13/

;
f

GLUE WITH
BINDAN D4

J 49 & G
e
% B ’ L I @ \/

DETAILS

EXTERIOR

.. WOOD GLUE SECTION
A SEALANT BY SCALE: 1/2 FuLL \J3/
' OTHERS

SECTION 7T

FRAME SCREW MOUNT SHOWN. SEE
DETAILS ON SHEET 15 FOR DIRECT,
CLIP & BRACKET MOUNT DETAILS.

'8 ]
<000 e rvvavas

7 N

v {

?—w@m Y

N\ R

SECTION I\
SCALE: 1/2 FULL \J3/
(FOR DETAIL NOT SHOWN, SEE SECTION E1/13)

EXTERICR

',/% N .
s | (@) ) (@&
- 45
SECTION /&5y

SCALE: 1/2 FuLL \13/
(FOR DETAIL. NOT SHOWN, SEE SECTION £1/13)

52

36

SEE GLAZING

ON

SHEET 16

) 8 19 3
/0 70
pens;
7
/] [7
N | av
./67 5 /0 68
&
> ()
49
SECTION /e

SCALE: 1/2 FULL. \13/

60 17
77

SEE GLAZING
DETAILS ON
SHEET 16

EXTERICR

R R T @\ 7 &
BINDAN D4
WOOD GLUE
SECTION 7

36
SEE GLAZING
DETAILS ON
SHEET 16

SCALE: 1/2 FULL \J3/

Approved as complying with tke

Florida Buildigg {’ods

Date
NQA!{ E

Riasa Dade Produet | bntm? .

ST L e e L

PRODUCT REVISED
a3 complying with the
Puitding Code oh
Accepiancs Mo | b

kg &

Miammi ade Preduct Control ™.

DRAWH BY: CHECKED BY:
WRW WS
PLOT: DATE:
1=2 05/03/13
i
[a]
&
=z
o
&
v
j )
&5
a
=z
o
(73}
&
o
o
z
o
irss
o 1
=
o=
ow_
o ..8~
sHBB
b
.__Ji
gwmm
5, 8
0 2"2’%_;
14 ;d'gm
8 o
21 B==
a2
m -
ol o
AR
55
N
=l .2
= o
7} ZS
5| Be 2|
w3
(S 1%]
o| 28¢',
< | My ggg
o a£23
x . ghK
= mdoa‘_',
= B gm
|- L E-E G0
8 gi_'?’l""
MO 05"‘55
Ex (287 g8z
zNZ
5 + O é
= ZEO &
Z 3
Sz
L
o
b3
[T
<L
x .
w2

[ DRAWING MNO. R

1680

SHEET NO.

13 o 19




L

FRAME WIDTH

3/8" MAX. SHIM

59
36

®\

7

AT EACH ANCHOR

F .

-

v,

36

SEE GLAZING
DETALS ON \/ : 19 _®
57
SHEET 16
-2, —FRAME SCREW o @ 11 &
/ \ ',.,5, PER ELEVATION SEE GLAZING
[DETAILS ON _\/ A
/ : ;/{—SUBSTRATE BY Y6R SHEET 16 / ]
= . OTHERS PER
TR " “FRAME ANCHOR ]\ &
};ESBEHSEMENTS o g/ s
N \ @ _ -
4 ® > A
GLUE WITH 67 S SEALANT BY ) <
BINDAN D4 15 * OTHERS GLUE WITH BINDAN
WOOD GLUE D4 WOOD GLUE 73 20 O
GLUE WITH
SECTION /& BINDAN D4 67
SCALE: 1/2 FULL \J4/ HOOD GLUE SECTION /1
FRAME SCREW MOUNT SHOWN. SEE DETALS ON SHEET SECTICN iy SCALE: 172 FULL a4/
15 FOR DIRECT, CLIP & BRACKET MOUNT DETAILS. SCALE: 1/2 FULL \J4/
OGNS, & /& D (%) /~SEE GLAZING
DETAILS ON
N 7 "y
(69) s Q Q (79) D \/SHEET 16
L) T — SEE GLAZING Mook g%
@ r pa—— it A DETAILS ON - A
‘ XN (1>
;!,/,///, nn:g#_ “t\M SHEET 16 N s
Z{{’Z'“mmnﬂ unnnu‘i)\-}\f}'\k‘
27 L Y§‘ S
N
@ SEE GLAZI SEE GLAZING
SECTION /&N T1X sheer e [EXTERIGR] ™9 T1 < Sier 1o,
SCALE: 1/2 FULL \J14/ SECTION P [EXTERIOR]
\ SCALE: 1/2 FULL 14/ \ SECTION 13\
~ 73 ~ 3 SCALE: 1/2 FULL \J4/
PCRORIOFIMNGT SHOWN, SEE SECTION L1/14) 06466, ,,
’%\ Bt Coda g 21108 o
/ = ) Accepianes Mo |
i l_._i,.xiai"m{iﬁol_‘},»})ri, .-
[EXTERIOR] ExTEROR] WA A-SEE cLAZING 3}!;@?”1‘“1;&{:““”%)“
H Miami Dade Pr ‘
i DETAIL ON {t\pp_mvedl :_sg ocl;gzj?l(;th(ig ls:tq[t(:)l; mc“}
SHEET 16 ::”3;1:{!3 Hi.l.l;{]'ii{(‘ oy
SECTION /A0 SECTION s NOAF
SCALE: 1/2 FULL \J4/ SCALE: 1/2 FULL \J4/

DRAWH BY:
WRU.

CHECKED 8T:
WHWS.

PLOT:
1=2

OATE:
08,

03/13 !

DATE

BY

REVISION DESCRIPTION

NO.

MANUFACTURER

PEETZ WINDOWS & DOORS
15951 S.W. 41ST STREET; SUITE 150

WESTON, FL 33331
954-659-3887

WOOD IMPACT OUT—SWING BI-FOLD DOORS

DRAWING TITLE
CONSULTANTS

W. W, SCHAEFER ENGINEERING

& CONSULTING, PA. (CA 6809)

7480 150TH COURT NORTH
PALM BEACH GARDENS, FL 33418
PHONE: 561-~744-3424

AEFER, P.E.
44135

! SCH
Pf NO.




ANGLE CLIP SCREW PER "FRAth NARROW INSTALLATION BRACKET SCREWS
ANCHOR REQUIREMENTS TABLE"  SUBSTRATE BY OTHERS PER "FRAME  PER "FRAME ANCHOR REQUIREMENTS

SUBSTRATE BY OTHERS PER "FRAME

EDGE DISTANCE)

ANCHOR REQUIREMENTS TABLEZ (2 PER CLIP) ANGLE cLp  ANCHOR REQUIREMENTS TABLE” TABLE” (2 PER CLIP)
A e s NS AN PER ELEVATION |15 oo Saln s oy o D0 NGttt g/
: AN 17 3/8" MAX. gl ' ~
| SHIM NEXT -
: TO EACH CLIP—I L E £ |
- SUIEL LA I A L S I P _f_—_"__,7, Y L w—
SEALT BY— . . SEALANT BY— 8 < [ N
OTHERS 1 omers \®
=1 [ 0060 L) [ . 3/87 MAX,
SHIM NEXT
\ TO EACH CLIP
oo Presereens ~—NO. 8 X 1 3/16"
\NO. 8 X 1 3/16" SCREW (2 PER CLIP
SCREW (2 PER CLIP WITH MIN. 5/8" WOOD
=) (== WITH MIN. 5/8" WOOD L) [y - EDGE_DISTANCE)

OPTIONAL ANGLE CLIP MOUNT DETAIL OPTIONAL NARROW INSTALIATION BRACKET MOUNT DETAIL
(HEAD SECTION SHOWN; SILL & SIDES ARE INSTALLED THE SAME) (HEAD SECTION SHOWN; SILL & SIDES ARE INSTALLED THE SAME)
(FOR DEFAIL NOT SHOWN, SEE OTHER SECTIONS) (FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS)

NOTE: ANGLE CUP IS SHOWN AT THE INTERIOR OF THE SUBSTRATE. IT MAY BE PLACED AT THE jEXTERlOR

WIDE INSTALLATION BRACKET SCREWS
SUBSTRATE BY OTHERS PER "FRAME PER "FRAME ANCHOR REQUIREMENTS  CONTINUGUS WOOD MEMBER LESS IN
ANCHOR REQUIREMENTS TABLEZ TABLE" (2 PER CLP) THICKNESS THAN A 2X_ BUCK 70 BE
X e T N e p Ry ey MIN. 3 1/2" DEEP (NOT REQUIRED

SUBSTRATE BY
OTHERS PER
"FRAME ANCHOR
REQUIREMENTS
TABLE”

SEALANT BY s b8 P .

L IR
L4

s ATy T

WHEN SHIM SPACE IS WITHIN ALLOWABLE
DIMENSIONS SHOWN IN SECTIONS).

p SEALANT BY
OTHERS STHERS é oeoo
. 3/8" MAX. S =
SHIM AT

SHIM DIMENSION EACH CLIP

SHALL BE MINIMUM " ]

EQUIVALENT TO CLIP PROOooecos ~-NO. 8 X 1 3/16 PROCoope

HITH MIN. 5/8" WOOD I:;lgﬁlgl(jn?ﬁ}:{? the Florida
Ll?[) | EDGE DISTANCE) ] — RN

Acceptance Mo

FRAME SCREW PER st Eypliatian Pare
EXTERIOR FLEVATION & "FRAME : SO 7 ) :
9060 ANCHOR REQUIREMENTS MisTal 19308 Broguet Control ™
TABLE”
OPTIONAL _WIDE INSTALLATION BRACKET MOUNT DETAIL OPTIONAL DIRECT _MOUNT DETAIL TO  Approved os complying with the
(HEAD SECTION SHOWN; SILL & SIDES ARE INSTALLED THE SAME) SUBSTRATE WITH SPACER Hotida Buitdigg Code . 2%
(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) (HEAD SECTION SHOWN; SILL & SIDES ARE  NOAT] Boa el i 7
NOTE: BRACKET IS SHOWN PROJECTED TO THE INTERIOR. INSTALLED THE SAME) Mizmf s Prodict Qontrol / 7
IT MAY ALSO BE PROJECTED TO THE EXTERIOR. (FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) By—— Fs so seo

DRAWN BY: CHECKED BY:
WRM W.WS.
PLOT: DATE:
1=2 03/03/13

=4

&

£

=z

2

o

14

O

f

O

z

=

n

o

i

g

-4

« |~ DRAWING NO. R

o
18]
L2
)
¥E ;’
o2
own o
ne= |
5003
= =
v %m%]
=0y
o L Lo
8 k==
N
m -
g e
Tk B
LR % A
o =
o IF
zl =
=l 0od
[72] Z0
£ e
w3
S| z& &3,
o 5.9
G} g<=%
T § Mol kgy
D: ou]f"-
- d ~Go !l
o| W5
o | $5 259
o O2 o
= gwm 90y
5..8°3
z |58 &
z -
Sx4
ui
[N
=58
| By
ES
»2
=i
Lad
o
%
=

1680

2

SHEET NO.

15 o 19




1 5/16" THICK 1.G. GLASS

[IoRAwN Bt

CHECKED BY:

B WRAE WWS.
9/16” LAMINATED GLASS (1/4" HT. ST./ | (1/4" HT. ST./0.075 EASTMAN CHEMICAL o mbc;g/;l?mmg?fc%%ﬂ% o
SKASIL S620 — —— " 0.075" easTuan CHEMICAL CO. CO. SAFLEX CP/1/4 HT. ST. EXTERIOR; BRUYNZEEL MULTIPANEL
By SiA SAFLEX CP/1/4" HT. ST.) 1/2” SPACER; 1/4” TEMP. INTERIOR)  OPTIONAL RAISED—1—N \; i
24 SIKASIL $G20 & PANEL N °
. SPOT OF POLYURETHANE HY SKA Wy 2 SIKASIL 5620 BY— | / 5
19/32" MIN. BITE SIKA N
ADHESIVE (OTTOCOLL P85
- . SPOT OF POLYURETHANE
I BY OTTO—-CHEMIE OR 19/32” MIN. BITE ADHESVE. (OTTOCGLL. P55 SPOT OF POLYURETHANE -
EQUIVALENT) AT ENDS \ " 2
EXTERIOR VALENT) AT N | il BY OTTO-GHEME OR 19/32" MiN. BITE | ADHESIVE (OTTOCOLL P85 s
j - BY OTTO—CHEMIE OR
SLESEEG;S/ 76 EXTERIOR AND 16" MAX. 0.C. ! = EQUIVALENT) AT ENDS %
BLock OPTIGNAL SETTING—" = EXTERIOR AND 18" MAX. O.C. S
8Y7Y3Y 9 BLOCK AS OPTIONAL SETTING BLOCK] g
REQ'D AS REQ'D
103142013 6Y7Y8Y9 g
;
TYPICAL GLAZING DETAIL ORI
(NON—|.G. CONDITION) TYPICAL GLAZING DETAIL o
(1.G._CONDITION) TYPICAL WOOD PANE}L -
—T1  GLAZING DETAIL 4=
ST
O .3~
138
: 5!
o
2851 VARIES —— -~ 2.676 ‘ 2.676 - — VARIES —] 2.677 2.677 254
| 1] ] \ 0 EE%E
VARIES l_\ —n 2l Exnn
I.IJU)
[ Y
3.197 3.557 3.571 J 55
FRAME_ (SILL) 2 [
3.934 ® 3.897 3.897 VARIES MIN. MIN. Ll 3
4.618 T 15
o &
[ 2 o
= 0o
x VARIES &
{ (5) ERAME_FILLER , o | . g6
HEAD ! ® Topa JAMB STILE 3| 83,
(3) ERAME (HINGED JAMBS) () ERAME (CARRIER . 1398 ~ i
— —{ 1.263 }w O gLiun
(1) ERAME_(HEAD) | | £ | Dalggs
= ~og!
FRAME FILLER (SILL) FOR / 0.590 = E% 33
RADILS INITS sie seo! 48 |35 23
= (8]
i 2'?135 ; 3M5!f84 41;4?[34 2.676 2.676 PRODUCT REVISED == Emg ?;’E
MIN. MIN. . scmm)l}m{,\ lihlhel"!onda % §§8 &
Building C .
Agirep]{janc: ?\po Q«ﬁ g §3°3
ll ,1 fx‘"sfi?s‘vw D/DA} . ides
2.676 2.676 2950 By i 7 &
l:: 2.676 2.676 o MIN. \ﬂmﬂiDad\. l’mducl Contiot—, pony
' 4,054 e
MIN. \J_l_\_ru g
ik
F_QLDJNQJAEE[INBJB};E. INACTIVE_SWING CORNER MEETING STILE | ) E.
® ®M551N§__S_ELE. .MEE[ING STILE © - (3) MID=RAIL 1 comptying it e
li II'frm'm'l Buildigp Cote | 3
S Date " s
| NOATT L3 =gt d §_ — TG O]
.({2) CORNER MEETING STILE Miemni T35 P Cooio 1680
: }-;y_‘“__,_* :“‘Z,W\_': ______ . SHEET NO.
; S 16 o 19




R - 7S ai '“ 1.773 #‘ [ 2.259 ]~? g— 0.774 el T
| 2.540 | MIN. OMK 4 Om‘* 0.774)nRx | wns
\._. \ / 0-592 \\ \ ¢ j 0.590 | ) : — MIN. 1=2 08/03/13
i 1 7
<L
2.480 (i8) EXIERIOR ASIRAGAL SORNER STL °
y pou S E \ &
3.856 3.856 E LE 3.896 —  |--0.591
1 3.987 3.987 2
L ® . 1.362 . g2
INTERIOR ASTRAGAL _ &
\ DouB E 0.791 g
r ] E STILE ' ,] 2.339 z
} &
(15) ASTRAGAL ASTRAGA - N H
A S (SINGLE_SWING PANEL ——— —-|  VARIES —| VARIES vres - [
0.657 CORNER STILE
I?_L —-I 1.245 l“ | 2.835 @ BEAD .ASLEAQAL_BEAQ m_a_m ASIEAQMD .ASJRAQAL_BEAQ
0.780 H 0.781 VARIES ﬁi~——{ | ‘—*}‘ 0.787 2
] { —— A - T
GLAZING BEAD = ' | . 0.098 —~j=- QE
®: : MNQ_EEAQ 16 0.118 = 0.197 —A— B | x5
i . . [ T ! ' o I~
(HOCD. PANEL) 0.157 TRACK fCEBEHE - = ﬁk_jﬁ,@
—_— - - — £, ] o —]
EILLER COVER \ corn = o0, — 4 /~1m1 1580 R
o D
./—T:Q EE—‘\____ %IEWE!IQEMEHI 0.394 — 0.591 o %(’,—.’%i’
0304 € | ETLS
(30) T0R_TRACK 3037 ————~ 0.504 = S 08
0.696 O&— -+ -|—-& g E==
—— 4750 —————] 1.273 . 1575 0.394 ! ! q st
. . ) . E oo
0.787 0.787 20.197 TYP. ] 1.354 @ l EI : 2
0.394 0.787 0.394 ﬁ? ~ 0.394 e @ 1 340 55
L} T . =z
0.394 —| FRAME SCREW— o—F—o& l ) S S | é I R E:
0.394 —] ¢ & LOCATIONS TO - _ 77 {EogAT'ONS 1.354 2=
- 44 BE IN SEPARATE ; , z| o9
— - +—b+—1—d 1 |1.563 BE N SEPARATE d— | —& 5,352 INSTALLATION 3 495 || 28
0.394 ~—] éf_ of b HOLES APART < - SeREWS 10 0.394 — fgku- T t5| e 3
PP SUBSTRATE o | YS:3
: \ — / 6\-/% 3
0.079 #0.197 TYP. - —-m(;E - $0.315 TYP. ol &a<%
1 0.079 —— 0.394 @ ANGLE CLIP = o Ed3
L ! ! I ? ]— 2 v R ODT
T BEND AS REQ'D TO FIT + R z | G SEl
FRAME SHIM SPACE e i ! o gEDY
NARROW INSTALLATION BRACKET WIDE INSTALLATION BRACKET 8 |, %5 Bes
== g hY }"?2 a
B .5 3
e g0 &
z |5z
b
0.
e
gi
?g
=
. Approv e it £ PRODUCT REVISED Zo
1 wfél;{;‘; g{;?fd?""‘?'y”‘g with the as complying \i'i th the Florida
D ‘ : Building Cade ¢ Py
ltiletzas e {50429 OS5 :
‘ Nﬂam*ﬂgds: lﬁﬁiu Lontrof / E{;fj)ha{i\?:l/p‘a} ; i [ ] "™ DRANG NO ey
P / i - ji&‘s TN 1680

By o o P SHEET NO.

R *Ajami Dade Praduct Catitrol e
17 o 19




DRA\‘;PLB‘I’: CHRECKED BY:
M. WWS
4740 | 9.843 . O
— 1.469 2.688 — 0.584 = I —1 . 1 -
0.394 & L O |[©] O ) b
| [a]
! 0.118 —Jr
D {B'\ 1.075 e © o N | ls
0.984
1.500 [~ $0.375 EB' | @ L}E—ﬁ] |T] @ i lz
o
4740 HEAD LOCKING HARDWARE STRIKE £
0.750 1.625 |- 0.750 ' , 8
0.236 — 2.688 $0.315 :
e 3025 — | TYP. %
/ ! *
o
1.562 r 0.236 0584 $~/ "z
i - 4 ' ! r 0.584
B L — 0-394 2.688 1469 | 3
(47) ROLL END C ; b
@ 0.787 H—-—- -——p——-—b RE
| R k.
SHOLD E 3 g 2 §-8,
; — } o Q. -2
‘ (0] 2051
[# o 1 T e | fi § -
! sl =708
—' 1.024 Iw g E e
} o~ Lo I
o j ;’ © © O © 0.945 S
o O] © © |ows i 2k 8
P —
LOCKING GEAR REINFORCEMENT o |
SILL LOCKING HARDWARE STRIKE o B
£l o
O
o ToT ol ary
O O 0.630 L] BC
N P, 1 3| £S5,
w oF
3.937 0.118 —~f— ol &< ii-%'
H 0. o 35§
9 N =l g..821
© ‘ | © | 0.984 | B siz
<k~ 3z
| LE L 1
2 B=8 "3
z
I I S
“ | 9.843 |
{ S [ H_ 7 I ] ';i!
0.118 55
7 i i UGg
© © q p [ ] © ©] o.984 Sl
! L i — Approved as complying with tee PRODUCT REVISED =al
Florida Buildipg Code | as complying with the ¥ !ondu
L B 0 I]‘\J[i(i)lf\#- fo %ﬁ,@%@ E‘uﬁdl?n (.0;]\;:0 b T A. Z £
- & ceepiance j
Mlg:m ‘.de ijiuc!(.olml ?., ? Eﬁfiflﬁ?mllpﬂw fodat ﬁﬁ y D‘gNG NO. | REV,
b ' S S % S 80
By fam,m e i});amj S dum\ - SHEET NO.
] 18 o 19




mem 4 | ITEM_DESCRIPTION

TEM i

MANUFACTURER/NOTES ITEM DESCRIPTION MANUFACTURER/NOTES
PARTS , HARDWARE
1 [FRAME (HEAD) ) 43 |5 POINT MULTI-POINT LOCK SYSTEM FOR ACTME | KFV OR HOPPE (APPLICABLE LOCK STRIKES
2 |FRAME {SILL) WOOD SWING PANELS & LOCK/PANEL CORNER REINFORCEMENT
3 |FRAME (HINGED JAMBS) WOOD BARS ARE BY PEETZ.
4 |FRAME (CARRIER SET JAMBS) WOOD 44 |2 POINT MULTI-POINT LOCK SYSTEM FOR INACTNE |KFV OR HOPPE (APPLICABLE LOCK STRIKES
5 |FRAME FILLER (HEAD) WOO0D SWING AND FOLDING PANELS & LOCK/PANEL CORNER REINFORCEMENT
5A  |FRAME FILLER (SILL) FOR RADIUS UNITS WOOD BARS ARE BY PEETZ.
6 |TOP RAL WOOD 45 |OFFSET CARRIER SET 3 3/8" X 6" CENTOR E40CSS S.S.
7 |BOTIOM RAIL & JAMB STILE WOOD (STANDARD PANELS)
8 |FOLDING MEETING STILE WOOD 46 |INTERMEDIATE CARRIER SET 3 3/8° X 6 CENTOR E41CSS S.S.
9 |INACTIVE SWING MEETING STILE WOOD (STANDARD PANELS)
10 |ACTIVE SWING MEETING STILE WO0D 47 |OFFSET CARRIER SET 5 5/8" X 6" CENTOR F40CSS S.S. (HINGE LEAFS WIDENED
11 |CORNER MEETING STILE WOOD (CORNER PANELS) BY PEETZ)
12 |CORNER MEETING STILE WO0D 48 |INTERMEDIATE CARRIER SET 5 5/8" X 6" CENTOR £41CSS S.S. (HINGE LEAFS WIDENED
13 |MID—RAIL WOOD (CORNER PANELS) BY PEETZ)
14 |STILE BEAD WOOD 49 |BUTT HINGES 3 3/8” X 6" (STANDARD PANELS) CENTOR E41CSS S.S.
15 | ASTRAGAL BEAD WOOD 50 |BUTT HINGES 5 5/8" X 6" (CORNER PANELS) CENTOR E41CSS S.S. (HINGE LEAFS WIDENED
16 | ASTRAGAL BEAD WOOD BY PEETZ)
17 |INTERIOR ASTRAGAL (DOUBLE SWING PANEL WOOD 51 |KNOB (AS REQUIRED TO OPERATE LOCK)
MEETING STILE) 52 |HANDLE (AS REQUIRED TO OPERATE LOCK)
18 |EXTERIOR ASTRAGAL (DOUBLE SWING PANEL WOoOD 53 |1.G. SPACER 0.452” X 0.275" X 0.056" THICK S.S.
MEETING STILE) SEALS & SEALANTS
19 |INTERIOR ASTRAGAL (SINGLE SWING PANEL WOOD 56 | COMPRESSION SEAL SCHLEGEL QL3097 URETHANE FOAM
MEETING STILE) 57 |SEAL CTG G—1.00452.00.010 EPDM
20 |CORNER STILE BEAD WOOD 58 | COMPRESSION SEAL SCHLEGEL QL3062 URETHANE FOAM
21 |CORNER STILE BEAD WOOD 59 |COMPRESSION SEAL SCHLEGEL QL3011 URETHANE FOAM
22A | ASTRAGAL BEAD WOoOD B0 13/8” X 3/16” PRE—COMPRESSED TAPE N/A
228 | ASTRAGAL BEAD WOOD 61 |COMPRESSION SEAL SCHLEGEL QL3097 URETHANE FOAM
23A | ASTRAGAL BEAD WOOD FASTENERS
238 |ASTRAGAL BEAD WOOD 63 INO. 8 X 1 3/8" WOOD SCREW WITHIN 3° FROM CORNERS & 6 MAX. O.C.
24 {GLAZING BEAD (NON-L.G. GLASS) WOOD 64 |3/16" X 1 1/2° SELF TAPPING SCREW WITHIN 5° FROM CORNERS & 15" MAX. O.C.
25 |GLAZING BEAD (1.G. GLASS) W00D B6 [NO. 8 X 1 3/16" WOOD SCREW 5 PER HINGE INTO THE JAMB
26 |GLAZING BEAD (WOOD PANEL) WOOD 67 |NO. B8 X 5/8” WOOD SCREW 2 PER HINGE INTO THE STILE
30 |TOP TRACK 6063~15 ALUMINUM 68 |NO. 8 X 2 3/16" WOOD SCREW 3 PER HINGE INTO THE STILE
31 |BOTIOM TRACK 6063—T5 ALUMINUM 69 |NO. 8 X 1 3/8” WOOD SCREW 1 CENTERED BETWEEN FACH HINGE
33 | THRESHOLD BRONZE OR 6063—T5 ALUMINUM 70 _INO. B8 X 1 3/8” WOOD SCREW WITHIN 2" FROM ENDS & 14" MAX. O.C.
34 |BOTTOM TRACK/FRAME FILLER COVER BRONZE OR 6063—15 ALUMINUM 71 |NO. 8 X 1 3/8" WOOD SCREW 14" FROM EACH TOP & BOTTOM CARRIER
36 |STILE REINFORCEMENT GALVANIZED 34 KSI STEEL SET & 14" 0.C.
37 |ANGLE cUP GALVANIZED 34 KSI STEEL 72 |NO. 8 X 2 3/16" WOOD SCREW WITHIN 5 1/2° FROM ENDS & 14 MAX. O.C.
38 | NARROW INSTALLATION BRACKET GALVANIZED 34 KSI STEEL 73 |NO. 8 X 1 1/4” WOOD SCREW 3 PER HINGE INTO THE STILE
39 |WIDE INSTALIATION BRACKET GALVANIZED 34 KS| STEEL 74 [NO. 8 X 2" WOOD SCREW WITHIN 2" FROM ENDS & 14” MAX. O.C.
41 |ROLLER STILE END CLIP 304 S.S. 75 |NO. 8 X 2" WOOD SCREW 1 CENTERED BETWEEN FACH HINGE
42 |THRESHOLD CORNER KEY 304 S.S. 786 |18 GA. X_1_1/4” GALV. CURVED NAIL WITHIN 10" OF CORNERS & 20° MAX. O.C.
NOTE; WOOD USED IN TESTING WAS MAHOGANY WITH A SPECIFIC GRAVITY OF G = 0.46 AND A 77 {NO. 8 X 2" WOOD_SCREW WITHIN 5 1/2" FROM ENDS & 14 MAX. O.C.
MODULUS OF ELASTICITY Of E = 1,500,000 PSL OTHER WOOD SPECIES APPUCABLE FOR LOCK HARDWARE PARTS
OF ELASTICIY OF 1.500.000 76, OR GRENTER. AL WoOD. 19, MINHUN GHADE 5 MLt 85 [HEAD LOCKING HARDWARE STRIKE FASTENED STEEL
BY PEETZ WINDOWS & DOORS TO SELECT. WITH 4 NO. 12 X 2 3/8" WOOD SCREWS
86 |SILL LOCKING HARDWARE STRIKE FASTENED STEEL .
WITH 4 NO. 12 X'1/2" SMS SCREWS e complsing wi e lorida
87 |LOCK STILE LOCKING HARDWARE STRIKE STEEL  Euilding Code i n
FASENED WITH 4 NO. 12 X 1 3/4” WOOD SCREWS Acceptance No
88 [LOCK STILE DEAD BOLT AND LATCH STEEL “f’“*‘”*"“”‘” /
LOCKING HARDWARE STRIKE FASTENED WITH 4 NO. S £ S S
10 X 1 3/4” WOGD SCREWS Mismi Dads Product Control
90 |LOCKING GEAR REINFORCEMENT FASTENED STEEL
WITH 4 NO. 12 X:1 9/16" WOOD SCREWS ﬁ’;‘ﬁf&’l’%‘:,ﬁ;{;’,’,’“ﬁl"g‘“ﬁ‘ tho
! !

“DRAMJ Br:
WRU

CHECKEQ BY:
WWS.

1=2

DATE:
05/03/13

DATE

BY

REVISION DESCRIPTION

NO.

MANUFACTURER

WOOD IMPACT OUT—SWING Bi—FOLD DOORS

CONSULTANTS

PEETZ WINDOWS & DOORS
15851 S.W. 415T STREET; SUITE 150

WESTON, FL 33331
954—-859-3887

7480 150TH CQURT NORTH
PALM BEACH GARDENS, FL. 33418

W. W. SCHAEFER ENGINEERING
& CONSULTING, P.A. (CA 6809)

PHONE: 5617443424

1 2013

Date —% ] Sy
NOA#! . i
Dianii \au‘aPmLh e @? - D?A\grg;ono. REV.
Byu&““ e "-‘wﬁ“m; | SHEET NO.
> 19 o 19 |




